W (Duct Size) H (Duct Size)

W150x H150

& . 1500 1200
4
1

¢ o
\$ ______________ 3

PO0000Q000G0CEH (H_W)

<t
<t
({e)
w\® 2020 200
20,20, W-58 20,20, J 20,20 H-58 20,20 C
1.5 1.5 1.5 1.5 o
i
1 ] I

W1200x H700 W700x H1200

102 104

100

600

=

@ [¢]
[y}
\
\ No . JIS No.
1 J1S-H4100 t1.2
Q 2 J1S-H4100 t0.8
S T 3 J1S-H4100 t1.0
4 J1S-K6401 t7x 7
5 J15-B9908
F  AF95AR t10
6 J1S-G4305 |SUS 304 t1.5
@J} @J} 7 J1S-H3250 M5x 15
8 J1S-G4305 |SUS 304 t1.0
9 JI1S-B1111 M5x 18
10 t1.6
11 t1.0
12 J1S-H4000 t1.2
13 J15-63313 t1.6
14 JI1S-B1111 |SUS M5x 12
15 J1S-B1180 M5x 6
16 JI1S-K6401 t5
NOTE CLIENT TITLE SHEET No.
WORK
DATE CHECK DESIGN DRAWER ( ) SCALE free /4 R I MA I ND ] C 0 ] I t d ]




